restart
Ecuacion = diff (y(t), 182) =-gravedad
2

Ecuacion = d—2 y(t) = -gravedad
dr

Solucion = dsolve( Ecuacion)

Solucion =y (t) = - % gravedad £+ Clt+ C2

DerivadaSolucion = diff (Solucion, t)
DerivadaSolucion := % y(t) =-tgravedad + CI

DerivadaSegundaSolucion = diff (DerivadaSolucion, t)
2

DerivadaSegundaSolucion := d—2 y(t) = -gravedad
dr

ComprobacionUno = eval(subs(y(t) =rhs(Solucion), lhs(Ecuacion) — rhs(Ecuacion) =0))
ComprobacionUno :=0=0
restart

Ecua = diff (y(x), x$2) + 8-diff (y(x),x) +16-y(x) =5-exp(3-x)
2
Ecua = % y(x) +8 (% y(x)) + 16 y(x) =5 e

Solucion = dsolve(Ecua)
- 5 3x
) 4x ] e
C2+4+e "x CI+ 49 e
Comprobacion = eval(subs(y(x) =rhs(Solucion), lhs(Ecua) — rhs(Ecua) =0))
Comprobacion :=0=0

Solucion :==y(x) = e 4

restart
SolucionGeneral = y(x) =C[1]-exp(2-x) + C[2]-exp(-2-x)
SolucionGeneral .= y(x) = C, e? 4 C, e 2¥
DerSolGral := diff (SolucionGeneral, x)
d
DerSolGral .= —
erSolGra & y
DerSegSolGral = diff (SolucionGeneral, x$2)
2
DerSegSolGral := % y(x)=4C, e 44 C, e 2"

2x

(x)=2C, e —2Cye ™

Sist :== DerSolGral, DerSegSolGral : Sist[1]; Sist[2]
% y(x)=2C " =2C e "
¢ 2 -2
@ﬂx) =4C,e x+4C26 *
Const = C[1],C[2]
Const = C,, C,

Param = solve( {Sist}, {C[1], C[2]}) : Param][1]; Param[2 ]
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d—2y<x>+2(%y<x))

2
¢\ = L & 2

& d
S |2 (4w

C,=- L dx &

27 8 e—2x
[ > EcuaUno = subs(C[1]=rhs(Param[1]), C[2]=rhs(Param|[2]), SolucionGeneral)
2
EcuaUno =y(x) = 1 d—2 y(x)

> EcuacionDiferencial == rhs(EcuaUno) -4 — lhs(EcuaUno) -4 =0

2
EcuacionDiferencial .= % y(x) —4y(x)=0

_> SolucionGeneral
y(x)=C e+ Cye "

restart
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